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The Inverse Functiond|aJ| jugSse

@) Find the inverse function of Jx) = gx + 6 ANl ugSaa aagl

f(x) = gx + 6.
o [ =% -9 ’
o) fr@=3x-6 °
(@) [l =2x —4 <
o) R =—Jx +9 d
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Identify the equation that has a
solution different than the solution
to the other three.

n+ 14 =27
5+n_
=
n—16 =29
n+12 =25

Ja oo wilide Ja g AD Adead aka
ce AN EMEN EN Al
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Equations O\ lsell
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You find that the number of
messages you receive on your

message board varies directly as

the number of messages you post.

When you post 5 messages, you
receive 12 messages in return.
Find the number of messages you
need to post to receive 96

messages.

60

240

24

40

Direct Variation >)bJl il

dagl o lgalind A Jilad) e o Ciaag

A ) il 38 g Gaghe s il

A My 12 aliad el il 545 Lasis
. Julaal)

Wy ) gliad AU il s aa g

ALy 96 alia
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Write an equation in slope-intercept
form for the line that passes
through (5,7) and is perpendicular
to the graph of y — 3x = 1.

Jlgw palsiwl Q

Equation in Slope-intercept ghdiollg Juolu ddleo

G Al aadially Joall ddpay ddalaa S)
S o (35l (5,7) Al s
C¥y = 3x =1 Ji 3 Al

y=3x—8 a
1 16 ]
Yy=3*"3
y=-3x+22 <
_ 1,26 p
Yy=-3*"3
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@) Which pair of ratios forms a
proportion?

5o
4 W &

Tlall (280 el a0 e g5 &

Jlgw palsiwl Q

Proportion cuwlidl
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The Inequality diliell

@) Solve the inequality 43 > —4y + 11. 43 > —4y + 11 dolaal) JA

O y>8 a
O y>—8 b
O y<8 e
O y<-—-8 d
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Compound Inequality &Sy diglie

@) Write a compound inequality for the 1Y) Al Sl Ay Alita L)

following graph:

| ] 1 . N ——
B . T T pLp— .

A =304 § 1 2

x<—-3orx=0

x<-3sx=0

x<-3andx =0

x<-3 x>0

x<-3andx >0

O x£—3jx>0

x<—-3orx>0
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Inequality2 2di;LiaJl

Dj Solve the inequality [2f + 7| = 21. J2f + 7] = 21 duaa A

o f<-14 §f=-7
f<—-1l4orf=—7

f=z-74f<14
O f=-T7o0rf <14

f=-144 f<7
O f=—-14orf<7

o [f<-14 §f=7
f<-1ltorf=7
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Order OF Operasions Slles]l wui)yy
. a 2 [ a 2 c - - £
Evaluate the expression (—) -— (—) — —— i) dad aagl
b a—b b a—hb
fa=-2,b=6,c=2. a=-2,b=6,c =2 1}
13 :
36 '
5 b
36
_3 c
36
_ B d
36
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@’ Simplify —3(xy + 2y) + 5y — x.

O —3xy+ 6y —x
O —3xy+6y —x
@) —3xy-y-—x
O —3xy—11y —x

Jlgw palsiwl Q

Simplify the Expressions yulsil oy

—3(xy +2y)+5y —x L
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Find the value of x so that the two

figures have the same area

6 cm
<3 cm>i= XCM -
Xx=17.05
x=3
x=45
x=2

Jlgw palsiwl Q

Equations with the variables on Each Side b JS (& jusios SVslell

Ll dalead opuleslt

O5% oy X A sadl

xcm

10 cm
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Variables and Expressions 4 j=J| Olpusily Olpsiall
Write an algebraic expression for R il G oua Vst
the verbal expression: 4 Qb 5 ausia e B i paa 7"
"7 times the sum of a squared and b s amsa e A dus e

b minus 4 times the sum of

a squared and b".

7(a®?+b) —4a®+b a

7a:2+7b—4a%>+b b

(7a® + b) — (4a® + b)

7(a®* + b) —4(a®+ b)
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@) Solve the equation:
4

pt12=14

O (2,2}
@) -2}
o 2
O {2}

Jlgw palsiwl Q

Absolute Value Equationsdilbell deydll OV lse

sddalaall JA

4
—+12=14
Ipl
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The cost of a new car is
AED 25,500. This is 259% greater
than the cost of a used car.

What is the cost of the used car?

AED 5,100

AED 20,500

AED 20,400

AED 34,000

Jlgw yolysiul

Rate of Change jusil duwj

.AED 25,500 sl 5Ll 45 4l
Sylanal) ARIST (3 25% sty ush Aluall 138
JAlaxioal)

Salaninsal) Bylacd) 421 L
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Arithmetic Sequence dulw=l)l dJliiall

Write an equation for the n™ term of tobead) Ll 1 aall Addlaa is)

the arithmetic sequence:
15,13,11, ..

a,=13+2n, n=1

a,=17-2n, n=1

a,=14—(-1)", n>1

a,=13n+2, n=1

15,13,11, ...
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Solve the equation

ax+z=aw—y fora.

g
a="2"2
X+w
g
a="2"2
w—Xx
Z+
a=22
w—Xx
—Z
a=2
xt+w

Jlgw palsiwl Q

Solve Equation to find a variable yuio >V dsleall J>

.a daN ax + 7z = aw — y dibaal) Ja
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Intercepts gbliall

@) Find the x — intercept and x &,jﬂ‘u Jsaall G cadadall da g
y — intercept of the graph of the Adlaall Ald) Jaally ‘g,.....i).ﬂ gaally
equation 2x + 3y = 5. 2x+3y=>5

12 g x gaa e plitly —2 2 5a Y gaa g il

. . 1 . . 2
y-intercept is —2 > X intercept is —1;.

.—Z%Jﬁx\Jjuybhmb—lgﬁy\uu&nehﬁ:ﬁi

o ’
. . 2 . . 1
y —intercept is —1;, x — intercept is —2 py
1 - 2 -
O .ZEyhx\uubagwblgnyF&a&LLu! .
y — intercept is 1 E, x — intercept is 2; .
2 - 1 2u
O -153&95\):“@-‘&5%32;»303“&#@1 ;

y —intercept is 2 é, x — intercept is 12.
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Rate of Change for a Line aufiiue] il Jaso

®> Find the rate of change represented Aol Jhath (B Jaal) il Jana 22 g

) }
in the following graph. G

(3, 6

/ 0, 2)

B
]
X
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Equation of Line point-slope Juog dbiiy pudiuell ddleo

@) Write an equation of the line that AREIL jay (U asiiceal] ddslas (S)

passes through (2, —4) with a slope .3 olada Juas (2,—4)

of 3.
O y+4=3(x-2) a
O y—4=3(x+2) b
@) y+4=3(x+2) <
O x+4=3(y-2) d
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State the graph of the function

f(x) = [x].

Jlgw palsiwl Q

The Graph bl Juiaill

Al Salh Jbanl) sda

f(x) = [x]




